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Subtracting without Regrouping Name:
Solve each problem. Answers
1
1) 694 2) 2,372 3 76 4 222
- 281 -1,160 - 65 - 11 5
3,
4,
5 7,148 6 87 0949 8 3,597 >
-3,014 -3 -110 -1,446 6
7.
8.
9 08 100 863 11) 3,361 12) 95 0.
- 60 -101 -2,110 -21
— — — — 10.
11.
12.
13) 866 14) 4,335 15) 67 16) 635 13.
- 24 - 3,103 - 4 - 103
T - T T 14,
15.
16.
17) 6,266 18) 73 19) 499 20) 6,289 17
-2,101 -21 - 237 - 1,155
18.
19.
20.
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Subtracting without Regrouping Name: Answer Key
Solve each problem. Answers
N 413
1) 694 2 2.372 3 76 4 222
- 281 - 1,160 - 65 - 11 ” 1212
413 1,212 11 211
3, 11
4 211
5 7,148 6 87 7) 949 8 3,597 > 4134
- 3,014 - 73 - 110 - 1,446 . 14
4.134 14 839 2.151
7 839
8 2151
9 98 100 863 1) 3361 12) 95 0, 38
- 60 - 101 -2.110 - 21 60
38 762 1,251 74 10
1 1251
12, 74
13) 866 14) 4,335 15 67 16) 635 13 842
- 24 -3,103 - 4 - 103
842 1232 63 532 e 1232
15, 63
16. 532
17) 6,266 18 73 19) 499 20) 6,289 7 4165
-2.101 -21 - 237 - 1,155
4,165 52 262 5,134 18, Y
19. 262
0. 5134
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtracting without Regrouping Name:
Solve each problem. Answers
74 4134 2151 1251
762 1212 11 413 1.
211 14 38 839
2.
1) 694 2 2,372 3 76 4 222 3.
- 281 -1,160 - 65 - 11
- - - - 4,
5.
6.
7.
8.
5 7,148 6) 87 ) 949 8 3,597 9.
- 3,014 -73 - 110 - 1,446
- - - - 10.
11.
12.
9 98 100 863 1) 3,361 12) 95
- 60 - 101 - 2,110 -21
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